Differns Differns

Dutch Design Dutch Design

@& Cleaning tips
« If necessary, clean with a purpose-made neutral detergent. @& MANUAL MANUEL @ MANUA"_N"

- Do not use abrasive detergents; neither in liquid nor powder form.

+ Do not use scourers or anti-limescale sprays. @D HAN DLE'D'NG an |STRUZ|0NE GO |N§TRUK(|A
@ schoonmaak tips HANDBUCH G® INSTRUKTIONER INSTRUKCJA OBStUGI

+ Reinig indien nodig met een hiervoor geschikt neutraal schoonmaakmiddel
« Ermogen geen schurende reinigingsmiddelen worden gebruikt, ongeacht of dit in vloeibare of
poedervorm is.

» Maak geen gebruik van schuursponsjes en maak geen gebruik van anti kalk sprays. Washbasin frame | Wastafel frame | Waschbeckengestell | Cadre de lavabo | Struttura lavabo
Reinigungshinweise Tvattstallsram | Ram umyvadla | Ram umyvadla | Rama umywalki

+ Reinigen Sie mit einem geeigneten, neutralen Reinigungsmittel.
« Verwenden Sie keine scheuernden Reinigungsmittel - weder in flissiger Form noch in Puderform.
« Verwenden Sie keine Scheuerlappen oder Anti-Kalk-Sprays.

Conseils de nettoyage
« Sinécessaire, nettoyez avec un détergent neutre approprié 501 mm 304 mm
+ Aucun agent de nettoyage abrasif, qu'il soit sous forme liquide ou en poudre, ne doit étre utilisé. =
« N'utilisez pas de tampons a récurer et n'utilisez pas de sprays anti-calcaire. ‘w

[}

///lﬂ/

aD Consigli per la pulizia
«  Se necessario, pulire il rubinetto con un apposito detergente neutro.
- Non utilizzare detergenti abrasivi; né in forma liquida, né in polvere.
+Non utilizzare spugne abrasive o spray anticalcare

GB  stadtips
+  Om det behovs ska kranen rengdras med ett naturligt rengéringsmedel som &r gjort for andamalet.
« Anvand inte slipande reng6ringsmedel; varken flytande eller i pulverform.
+ Anvand inte skurbollar eller spray mot kalk.

© Tipy na cisténi
+ Pokud je to tfeba, ocistéte kohoutek specidlnim neutralnim cisticim prostfedkem.
+ Nepouzivejte abrazivni ¢istici prostfedky, ani v tekuté podobé, ani v podobé prasku.
«  Nepouzivejte draténky ani spreje proti vodnimu kameni.

840 mm

IN

GO Rady pre cistenie
+ Ak je to potrebné, kohutik Cistite vhodnym neutralnym cistiacim prostriedkom. [
- Nepouzivajte drsné Cistiace prostriedky, a to ani v tekutej, pripadne praskovej forme.

+ Nepouzivajte drétenky alebo spreje na odstrafiovanie vodného kamena. [T
Wskazowki dotyczace czyszczenia
+ W razie potrzeby umy¢ kran przeznaczonym do tego celu neutralnym detergentem.
-+ Nie stosowac detergentéw o wiasciwosciach sciernych, zaréwno w postaci ptynu, jak i proszku. i
+ Nie uzywac druciakéw ani sprayéw przeciw kamieniowi
o
=

Art.nr.:
38.215.27

o
D , SHIB.V. GUARANTEE

: S AR Laagveld 10 5
Ce prodmt ® /\ aagvel b Hex key Inbussleutel inbegrepen Montageschroeven inbegrepen
se recydent & e?-) 5721VV Asten 2 Ka Hex key included Aassembling screws included
= The Netherlands . Clé hexagonale incluses '))))D)D))D))D Vis d'assemblage incluses
Points de collecte sur www.quefairedemesdechets.fr www.differnz.eu/ Inklusive Sechskantschliissel Inklusive Montageschrauben

Privilégiez la réparation ou le don de votre appareil ! www.shi.nl service/download




Gereedschap (niet inbegrepen) - Tools (not included) - Werkzeuge (nicht imbegriffen) - Outil (non inclus)
Utensili (non inclusi) - Verktyg (ingar ej) - Naradi (neni soucasti baleni) - Naradie (nie je sucastou balenia) -

Narzedzia (nie laczyc

~ 9

-

< qa) = = =i
Drill Measuring tape Pencil Level
@ @
Bolt M6x30 (1x) ’fffr(((,(@ Bolt M6x15 (4x) Allen key/Hex key K4 (1x)
e -

damage while you assemble.

\_

These instructions must be used to ease the assembly of your furniture.
Please ensure that you have all the components before assembly.
Remember to place the part on a carpeted floor or blanket in order to protect them from

-

Q

@

Bolt M6x30
(1x)

-

/3
I
%

(EN)  HARDWARE: The screws + plugs to be used depends
on the type of wall.

(ND  BEVESTIGING: De te gebruiken schroeven + pluggen
zijn afhankelijk van de muur waarop het meubel wordt
aangebracht:

BEFESTIGUNGSELEMENTE: Die Schrauben +

6 @

verwendeten Stecker sind abhangig von der Wand, an
der das Gehduse aufgebracht werden soll.

FIXATIONS: Les vis et chevilles d'utiliser dépendent de
la paroi sur laquelle le meuble doit étre appliquée.

ACCESSORI DI MONTAGGIO: Utilizzare viti e tasselli
adatti al tipo di parete.

f&
Bolt M6x15
(4x)

?e06

MASKINVARA: Skruv och plugg ska anvédndas
beroende pa typ av vdgg.

SPOJOVACI MATERIAL: Srouby a hmozdinky, které maji
byt pouzity, zavisi na typu stény.

SPOJOVACI MATERIAL: Srtiby a hmozdinky, ktoré maju
byt pouZzité, zavisia na type steny.

POTWIERDZENIE: Do vzycia sruby + podkeadki w
zaleznosci od mvrv gdzie bedzie vmocowane.



